Reasoning Sample Paper for the SBI clerk Entrance Test

1) How many meaningful English Words can be formed from the letter 'ACER' using the Each Letter only once in each word ?
1) None
2) One
3) Two
4) Three
5) More than Three

Ans 3 

2) ' A * b ' means ' B is a father of A ' , 'A + B ' means ' A is a Wife of B ' and A / B means ' A is a Brother of B ' then what is the Relation of J with L in 'J + H' / R * L ?
1) Daughter
2) Daughter-in-Law
3) Sister-in-Law
4) Cannot be determined
5) None of these

Ans 2

3) In a Row of children facing North, Ritesh is twelfthfrom the left end.Sudhir who is twenty-second from the right end is fourth to the right of Ritesh.Total how many children are there in a row ?
1) 35
2) 36
3) 37
4) 34
5) None of these

Ans 3 

4) In a Certain Code ' DUPLICATE ' is Written as MRVFJFVBE. How is CARTOUCHE written in that Code ?
1) UTBEPWDJF
2) UTBFQFJDW
3) UTBEQFJDW
4) UTBEPFJDW
5) None of these

Ans 4 

5) Four of the following five are alike in a certain way on the basis of their Position in English alphabet and so form a group.Which is the one that does not belong to that group ?
1) HJG
2) PQN
3) DEB
4) TUR
5) KLI

Ans 1
  
6) How many such pairs of letter are there in the word  ' PHYSICAL ' each of which has as many letters between them in the word as they have in the English alphabet ?
1) None
2) One
3) Two
4) Three
5) More than Three

Ans 3 

7) In the following set of number if '1' is added to the last digit and then the order of the digits is reversed, which number will be fourth if arranged in ascending order ? 
567      284      696      865      738

1) 567
2) 284
3) 696
4) 865
5) 738

Ans 1 

8) In a Certain Code RAIL is written as 5796 and TAPE is Written as 3748.How is pair written in that Code ?
1) 4795
2) 4785
3) 3795
4) 8795
5) None of these

Ans 1 

9) Four of the following five are alike in a certain way and so form a group.Which is the one that doesnot belong to that group ?
1) Rose
2) Jasmin
3) Hibiscus
4) Marigold
5) Lotus

Ans 5 

Direction( 10-13): Study the following information carefully to answer these questions:
Eight friends J,K,L,M,N,O,P and Q are sitting around a circle facing the Center. J is not the Neighbour of N.L is third to the right of K. Q is Second to the left of N who is next to the right of L. O is not the Neighbour of N or K and is to the Immediate left of P.

10) Which of the following is the Correct Position of L ?
1) To the immediate right of N
2) To the immediate right of Q
3) To the immediate right of J
4) To the immediate right of Q

Ans 2 

11) Which of the following pair of Persons represent O's Neighbour ?
1) L&N
2) P&K
3) M&P
4) N&P
5) None of these

Ans 3 

12) Who is the immediate of K ?
1) J
2) P
3) Q
4) Cannot be determined
5) None of these

Ans 1 

13) Who is to the immediate left of O ?
1) P
2) L
3) Q
4) J
5) None of these

Ans 5

Direction(14-18):Each of the following question below are given four statements followed by three conclusions numbered I, II, III, You have to take the given Statement to be true even if they seem to be at various from Commonly Known facts. read all the Conclusions and then decide which of the given Conclusions logically follows from the given statements disregarding commonly known facts

14) Statements: All Chillies are garlics. some garlics are onion,All onions are potatoes.No Potato is ginger.

Conclusions:
I.  No Onion is Ginger
II. Some garlics are Potatoes
III. Some Chillies are Potatoes
1) Only I Follows
2) Only II Follows
3) Only I & II Follows
4) Only I & III Follows
5) All Follow 

Ans 3 

15) Statements: All Keys are locks. some locks are number,All numbers are Letters.All Letter are Words.
  
Conclusions:
I.  Some Locks are Letter
II. Some Words are numbers
III. All numbers are words
1) Only I & II Follows
2) Only II & III Follows
3) Only I & III Follows
4) Only I & either II or III Follow
5) All Follow 

Ans 5 

16) Statements: All Windows are Doors.All Doors are Walls. No Wall is Roof. All Roofs are Shelters.

Conclusions: 
I.  Some Windows are Walls
II. No Wall is Shelter
III. No Door is Shelter
1) None Follows
2) Only II & III Follows
3) Only I & III Follows
4) Only I  Follows
5) All Follow 

Ans 5 

17) Statements: All Bottles are Jars.Some Jars are Pots. All Pots are Taps. No Tap is Tank.

Conclusions: 
I.  No Pot is Tank
II. Some Jars re Tanks
III. Some Bottles are Pots
1) Only I & III Follows 
2) Only II & II Follows
3) Only II & III Follows
4) All Follow 
5) None of these

Ans 5 

18) Statements:Some Fish are Crocodiles. Some Crocodiles Snakes. No Snake is Tortoises are Frogs.
Conclusions: 
I.  No Snake is Frog
II. Some Snakes are Fish
III. Some Fish are Frogs
1) None Follows
2) Only I & II Follows
3) Only II & III Follows
4) Only I & III Follows
5) None of these
Ans 5 
SBI Model Question Paper of Reasoning

1) In a Certain Code DROWN is Written as MXNSC.How is BREAK written in that Code?
1) LBFSC
2) JBDSA
3) JZDQA
4) LZFQC
5) None of these

Ans 2

2) Among M,N,T,R and D each having a different height. T is taller than D but before shorter than M. R is taller than N but shorter than D. Who among them is the taller?
1) D
2) T
3) M
4) R
5) N

Ans 3

3) How many such digits are there in the number 5436182 each of which is as far away from the beginning of the number as when the digits are arranged in ascending order with in the number?
1) None
2) one 
3) Two
4) Three
5) More than three 

Ans 3

4) What should come next in the letter Series given below?
D D E D E F D E F G D E F G H D E F G H I D E F G H I J D
1) D
2) E
3) F
4) J
5) None of these

Ans 2

5) The Letter in the word MORITIFY are changed in such a way that the vowels are replaced by the previous letter in the English alphabet and the consonants are replaced by the next letter in the English alphabet.which of the following will be the fourth letter from the right end of the new set of letters?
1) S
2) H
3) G
4) N
5) None of these 

Ans 5

6) Four of the following five are alike in a certain way and so form a group.Which is the one that doesn't belong to that group?
1) Leaf
2) Flower
3) Petal
4) Fruit
5) Tree

Ans 5

7) Four of the following five are alike in a certain way and so form a group.Which is the one that doesn't belong to that group?
1) Garlic
2) Ginger
3) Carrot
4) radish
5) Brinjal 

Ans 5

8) Four of the following five are alike in a certain Way and so form a group.Which is the one that doesn't belong to that group?
1) 24
2) 48
3) 32
4) 72
5) 64

Ans 5

9) How many meaningful  English words can be made with the letter ALPE using each letter only once in each word?
1) None 
2) One
3) Two
4) Three
5) More than Three 

Ans 4

10) How many such pairs of letter in the CHAMBERS each of which has as many letters between them in the Word as in the English alphabet?
1) None 
2) One
3) Two
4) Three
5) More than Three 

Ans 3

Direction(11-15): Study the following information carefully and answer the questions given below:
A, B, C, D, E, F, G and H are sitting around a circle facing at the center. F is third to the right of B who is third to the right of H. A is third to the left of H. C is fourth to the left of A. E is third to the right of D who is not a neighbour of A.

11) In which of the following pairs the second person is to the immediate right of the first person?
1) HC
2) BE
3) GB
4) FA
5) None of these

Ans 1

12) Who is Second to the right of D?
1) F
2) G
3) A
4) Data in adequate
5) None of These

Ans 5

13) Who is third to the Left of G?
1) H
2) D
3) C
4) F
5) None of these

Ans 3 

14) Who is Fourth to the Left of C?
1) F
2) A
3) E
4) Data in adequate
5) None of These

Ans 2 

15) What is B's Position with respect of D?
A) Fourth to the right
B) Fourth to the left
C) Fifth to the Left
D) Fifth to the right
1) A only
2) B only
3) A and B only
4) C and D only
5) None of these

Ans 3 
Model Question Paper for General English

Direction(1-5):Read the following passage Carefully and answer the questions given below it.Certain words are printed in bold to help you to locate them while answering some of the questions.

The window offering anew view of the house opposite.The two families dinot not speak to eachother because of the properity dispute.oneday Ruchira's textbook lay untouched as the young girl's gazer on the happenings in the house opposite.There were two new faces in the neighbouring house-hold of an elderly window and a girl,aged sixteen.sometimes the elderly lady would sit by the window doing young girl's hair.on other days she was absent.

The New young neighbours daily routine could be seen through the window-she cleared the paddy:split nuts, put the cushions in the sun to air them.In the afternoons while the men were all at way some of the wome slept and other played cards.The girl sat on the terrace and read.Sometime they wrote.One day there was a hinderance.She was writing when the elderly woman snatched the unfinished letter from her hands.There after the girl was not to be seen on the terrace.Sometime during the Sounds came from the house indicating that a massive argument was going on inside.

A few days passed.One evening Ruchira noticed the girl standing on the terrace in tears.evening prayer was in progress.As she did daily, the girl bowed several time in prayer.Then she went down stairs that night Ruchira wrote a letter.She went down and posted it that very instant.But as she laid on the bed that night.She prayed fervently. that her offer of friendship wouldn't reach its destination.Ruchira then left for Madhupur and returned when it was time for college to start.She found the house opposite in darkness,locked.They had left.

When she stepped into her Room she found the desk piled with letters one had a local stamp it with her name  and address in unfamiliar handwriting.She quickly read it.they Continued to Write each other for the next twenty years.

1) Why did Ruchira Write a letter to her new neighbour ?
1) She wanted to offer her,her help
2) She wanted to be friends with her.
3) To apologize for her family's behavior towards her family.
4) To encourage her to Continue learning to read and write
5) None of these

2) Which of the following can be said about Ruchira ?
a) She used to spy on her neighbors because she didnot trust them.
b) She was at home because she was studying.
c) She didn't Speak to her neighbors because they didn't own property.
1) None
2) Only B
3) Both A and B
4) Only C
5) Both A and C

3) How did the new young neighbour Spend her days?
1) She was busy Writing letters to Ruchira.
2) She used to day dream about her Past experience.
3) She would attend to the need of widow.
4) She spent her time learning to read and write
5) None of these

4) Why was the young neighbour prevented from sitting on the Terrace?
1) She used to while away her time instead of working.
2) The old women could not longer keep an eye on her.
3) She had not finished writing the letter she was asked to
4) She had been writing a letter which she was not supposed to.
5) As a Punishment for being disrespectful and arguing with her elders.

5) Which was the major argument in the House about ?
1) There was too many People living there, which resulted in arguments
2) The Young girl was insisting on attendind college.
3) The Young girl had been wasting her time instead of working.
4) The old woman didnot guard the young girl closely
5) None of these.

Direction(6-7): Choose the word which is most similar in meaning to the word printed in bold as used in the passage.
6) Spend
1) Pay
2) Bought
3) Devote
4) Settle
5) Empty

Ans 3 

7) Lying
1) Sleeping
2) Dishonest
3) Relaxing
4) Remaining
5) Untruthful 

Ans 4

Direction(8-9): Choose the word which is most opposite in meaning to the word printed in bold as used in the passage.

8) Dismay
1) Joy
2) Interest
3) Desire
4) Humour
5) Luck 

Ans 1  

9) Tended
1) Negligible
2) Watched
3) inclined
4) Ignored
5) Spoil

Ans 4

Direction(10-14): Which of the phrases 1, 2, 3 and 4 given below each sentence should replace the phrase Printed in Bold letter to make it Grammatically Correct ? If the sentence is correct as it is given and no Correction is required, mark 5 as the answer.

10) Starting out my own business at this time would affect the financial Stability of my family.
1) Staring up my
2) For Starting With
3) To Start out mine
4) By Starting my
5) No Correction required

Ans 5 

11) Use a Tactice for mixing the inferior with good quality rice is dishonest and you will pose your liencse.
1) Using Tactics as
2) Using a Tactics like
3) To use Tactics
4) Used to Tactics like 
5) No Correction required

Ans 1 

12) The company will invest more six hundred crores in the next five Years to expand its operations in Britian.
1) will further invest
2) have invested  more than
3) have invested above
4) will be invested above
5) No Correction required

Ans 1 

13) Several of our Projects have delayed because the equipment we ordered was delivered late.
1) have been delayed then
2) delayed because of
3) are delayed since
4) were delayed with
5) No Correction required

Ans 3 

14) The committee has ruled out the Possible raising taxes for this financial year.
1) Possible raised
2) Possible rise of
3) Possibility to raise
4) Possibility of raising
5) No Correction required

Ans 4 





